T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

BEAR 1 Bl KB e L

XM 00001 B&H#R1-1 DIP.GX ¢ 300 HIEES

NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAi % 1T.=L=200. 1
$ 300 )= 200.100 m
2 RIZFLLR)—THET HRH AR L=1=200. 1
6 300 g 200.100 m
3 R EWRT—T7 L B 1.=1=200. 1
6 300 )= 200.100 m
4 Rk —MAR L R 1=1=200. 1
)= 200.100 m
5 A —h AR T=1=200. 1
150mm X 50m & 2fZ 410 iAFx b= 200.100 m
6 EKEER 17K ERER=1=200. 1
)= 200.100 m
7 EREERRUINT T AT 7V MR SHAEY) B T =525 4T B B+ AR S+ IN =200, 1%2+0
15em%#8.2 30cm L T )= 400.200 m
8 BRI IRL SRS T 7K AL B = (BlEEAE B4 I+ AR+ N BRD) *0. 023%
5 1.841 m3 EHEEE=(200. 1%2+0)*0. 023%0. 2
9 EHEERRAEAE TAT7AMMEEERR PEESE AEERE A T =1 BB+ I AN =200. 1%0. 7+0
EXCIAEE  15emZ B2 40emPA T b 140.070 m2
10 AEEAREUEELFA BH0.20m3 SRR A T =1 BexlE +E AN H=200. 1%0. 7+0
EAEIE10emLA T B 140. 070 m2
11 EFK4EHE] BHO0.20m3 PEHI TH2=FEFxh@k%2=200. 1%0. 7*1. 27
g 177.889 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 3.640 m3 0.7%0.2%52
13 EEHEE (W E) BH0.20m3 PR TUI=ZE R+ ig*7#=200. 1%0. 7%0. 82
Jysay R RE )= 114. 857 m3
14 B RE (kg ) BH0.20m3 5T T US=%EFE*E%14E=200. 1%0. 7%0. 25
RC-40H R + & L\ [ 6D Ve 35.018 m3
15 ‘B E (W E) BH0.20m3 PR T U4=E R+ g *72=200. 1*0. 7%0. 35
M-40H & + 2o 5 [E 6 g 49.025 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
7vvar AR = 3.640 m3 0. 7%0.2%52
17 EEERE BHER) BH0.20m3 PR RAZERR (HaR ) =4 o Wi A =—1%200. 1%0. 082
Jys oy R R g -16. 408 m3
18 FEEEIEMAIL As FER L5 (B IS ) =R fe i Fix ) X =140. 07%0. 2
)= 28.014 m3
19  ERPEFEWALIL As . FEA ALy (A5 1R) =R F+ /5 X =140. 07%0. 05
)= 7.004 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERE My (B HIER) = AR+ R X =140. 07%0. 2
AsBlL - CoBll (44%) 2.0knlL F DIDFA )= 28.014 m3
21 FEFEAPLERE BH0.20m3 DTr4t BERA T (A 1) =i A FE+ /8 X =140. 07%0. 05
AsHil - Codifl (E55) 2.0kmPA T DIDA & 7.004 m3
20 F&ATIEHE BHO0.20m3 DTrdt 7 L TEHR=H1 53 +H2 5y Hik AR 4y (ESD HAl i) iR 8 =0+17
+# 9.0kmLL T DIDA g 181.529 m3 7.889+3.64+00
23 EREET (BEE-HJE) SemlfE IS B =JE F*g+ I AR I 5H=200. 1%0. 7+0
FAEBRIEAs 771 2 140. 070 m2
24  EHEET (HE - FEJE) 5ecm2/E (10cm) ARAE |H=FE FoHlg + AR N5 =200. 1%0. 7+0
B2+ T TA L )= 140. 070 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

BEAR 1 Bl KB e L

X[ 00002 P&#R1-1 DIP.GX ¢ 300 HAilE Hi—f% s
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAi% T.=L=13. 2
$ 300 )= 13.200 m
2 RYTFLLR)—THET A T=1=13.2
6 300 g 13.200 m
3 R EWRT—T7 L B R T=1=13.2
6 300 )= 13.200 m
4 Rk —MAR L R T=1=13. 2
)= 13.200 m
5 A —h AR T=1=13.2
150mm X 50m & 2fZ 410 iAFx b= 13.200 m
6 EKEER WK RER=1=13. 2
)= 13.200 m
7 EHEERRUINT T AT 7V MR ST T =52 A P e A B N B=13. 2%2+0
15ecmPA T B 26.400 m
8 BRI IRL SRS TR 7K AL B = (Bl S AE 40 I+ AL+ I BRD) *0. 023%
5 0.018 m3 &fizEE=(13. 2%2+0)*0. 023*0. 03
9 AHIERBUELFGA BH0.20m3 EEEMR A T =S Robg+ i A N 5 =13. 2%0. 7+0
BHEEE10emA T & 9.240 m2
10 EFEERNEUELFGA BHO0.20m3 SREERE A T =1 BexlE +IE AN H =13, 2%0. 7+0
EAEIE10emLA T B 9.240 m2
11 EFK4EHE] BHO0.20m3 PR TH2=E K+ +%E=13. 2%0. T*1. 09
g 10. 072 m3
12 B R (kg ) BHO0.20m3 B TUT=HE e #E+1E=13. 2%0. 7%0. 82
Iyioay bR g 7.577 m3
13 EHHEE (W E) BH0.20m3 PR TUA=SE R #IEE=13. 2%0. 70, 27
RC-40HL & + & 7 5 [E g 2.495 m3
14 EEEHERE (M R) BH0.20m3 B PERR GOk &) =4k Fo+ & Wi ff=—1%13. 2%0. 082
Iyiay bR g -1.082 m3
15 EEZEEIEMIE As FERA LG5 (B HISES) =A v i Fe /5 < =9. 24%0. 03
)= 0.277 m3
16 FEXPEEMALEL As BER LSy (A5 1B =ik A FEe 5 X =9. 24%0. 03
)= 0.277 m3
17  PEREALFLEME BHO0.20m3 DTr4t JBERA T (BE IS =i R /R X =9. 24%0. 03
AsHll - Colifl (E5%) 2.0kmEA T DIDA g 0.277 m3
18 FEREALEEM: BH0.20m3 DTr4t BERA T (15 1) =il FEe 5 X =9. 24%0. 03
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.277 m3
19 FAE+5EME BHO0.20m3 DTr4t 7 E =1 53 +H2 43 Hik T8 4y (S HAll ) — i =0+10
T# 9.0kmLL T DIDA g 10.072 m3 .072+0+00
20 EH¥ET (HE) 3eml/E A8 IH=E FHlE+ AR IR =13, 2%0. 7+0
HAEBRIEAs 7I45 P 9.240 m2
21  EhEET. (RE) 3em 1) A IH=E FHIE+ AR INH=13. 2%0. 740
HABRIEAs 7T I 9.240 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

BEAR 1 Bl KB e L

X[E 00003 P&#R1-1 DIP.GX ¢ 300 HAif Hijil] 5 AAUES
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAi % T.=L=4. 2
$ 300 )= 4,200 m
9 RYZFLLRAY—T BT EHIRT=1=4.2
6 300 g 4.200 m
3 R EWRT—T7 L R T=1=4. 2
6 300 )= 4,200 m
4 Rk —MAR L IR L=L=4. 2
)= 4.200 m
5 A —h AR T=1=4. 2
150mm X 50m & 2fZ 410 iAFx b= 4,200 m
6 EKEER WK RER=1=4. 2
)= 4.200 m
7 EHEERRUINT T AT 7V MR SR T T =2 A = R H A N =4, 25240
15emPL T )= 8.400 m
8 BRI IRL SRS T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.010 m3 &HEEE=(4. 2%2+0)*0. 023*0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + I A NS =4. 2%0. 7+0
BHEEE10emA T & 2.940 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BexlE + I AN SF =4, 2%0. 7+0
EAEIE10emLA T B 2.940 m2
11 EFK4EHE] BHO0.20m3 PEH| TH2 =L K@ +i%E=4. 2%0. T*1. 07
)= 3.146 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.560 m3 0.7%0.2%8
13 EEHEE (W E) BH0.20m3 B TUI=E Fo#iig+i%E=4. 2%0. 7*0. 82
Iyay R )= 2.411 m3
14 B RE (kg ) BH0.20m3 R T U4=SE R wiligwiE=4. 2%0. 7%0. 27
RC-40H R + & L\ [ 6D Ve 0.794 m3
15 EEERE (R R) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{&5 Frsk=0. 5%
Iyay R b= 0.560 m3 0.7%0.2%8
16 B RE (kg ) BH0.20m3 HRBEPERR GOk ) =4 Ko+ Wi i Ff=—1%4. 2%0. 082
Iyioay bR g -0.344 m3
17 ERBEFEWALEL As JFEAA LGy (B HIER) =R Ak i F + 5 X =2, 94%0. 05
)= 0.147 m3
18 FREXPEEMALEL As BER LSy (A5 1B =Rk FEe S X =2. 94%0. 03
)= 0.088 m3
19  PEREALFLEME BH0.20m3 DTr4t BERA T (BE IS =R R IR X =2. 94%0. 05
AsHil - Codifl (E55) 2.0kmPA T DIDA & 0.147 m3
20 PEPRNLEEEHE BHO0.20m3 DTrdt BERA T (15 1) =Rk A RS X =2. 94%0. 03
AsBlL - CoBll (44%) 2.0knlL F DIDFA P 0.088 m3
21 %4 +1EHE BH0.20m3 DTr4t 7 L E =1 53 +H2 25 Hik T8 4 (S Hll ) — S48 =0+3.
T# 9.0kmLL T DIDA )= 3.706 m3 146+0.56+00
22  EHET (HE) 3cmlfE IAE IH=E F+ g+ E A I =4, 2%0. 7+0
HAEBRIEAs 7I945 P 2.940 m2
23 EHEET. (HRE) Sem 1 A IH=IE F* g+ A I Bi=4. 2%0. 7+0
HABRIEAs TT745 & 2.940 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

X[ 00004 BEHR1-1 RRVP ¢ 100 HxE %
NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPAi % 1.=L=0. 5
$ 100 )= 0.500 m
2 WEEH(ke =B EBIRRT—7 L IR L=L=0.5
6 100 g 0.500 m
3 AEERS —MER T AR T=1=0.5
g 0.500 m
4 FEF—b B R T=1=0.5
150mm X 50m,// % 25 0IAF» J= 0.500 m
5 AHEERRUINT TAT 7V MR SRAEY) B T =545 AT B PR H S« AR BN =0, 5%2+0
15emPL T )= 1.000 m
6 BEERRI5IRL SRS T 7K AL BR= (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.001 m3 &HEEE=(0. 5%2+0)*0. 023*0. 03
7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB + I AN E=0. 5%0. 6+0
SR 1 0em L T g 0.300 m2
8  HHEEHURUEELANA BHO.20m3 AN R T=HE g + TR IN =0, 5%0. 6+0
EAEIE10emLA T B 0.300 m2
9 ‘&M BH0.20m3 PE | TH2=%E Ko #lig+i%8=0. 5%0. 6%1. 38
)= 0.414 m3
10 /& 5EHE B (Kebik I 52) BHO.20m3 P T U1=4E B 2=0. 5%0. 6%0. 61
Iyioay bR g 0.183 m3
11 BB E (W E) BH0.20m3 PR T U4=JE e igk38=0. 5%0. 6%0. 77
RC-40HL & + & 7 5 [E g 0.231 m3
19 3 BEHE B (KehR I 52) BHO.20m3 R RERR CHTaR &) =JE o+ /8 Wr i Agi=—1%0. 5%0. 01
Iyioay bR g -0.005 m3
13 ERRBEFEMALEL As . BEAA ALy (R EIER) =Rl i Fe /R X =0. 3%0. 03
)= 0.009 m3
14 FERFEEMLI As BER LSy (A5 1E) =k A i Rk IR X =0. 3%0. 03
)= 0.009 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (HE H1FA0) =i R /R X =0. 3%0. 03
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.009 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BEM TR (A8 H) =R A= X =0. 3%0. 03
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.009 m3
17 FAE+5EME BHO0.20m3 DTr4t 7 - TEWR=H1 53 +H2 53 ik TR 45 (S Hld) —#it & 48 =0+0.
+# 9.0kmLL T DIDA g 0.414 m3 414+0+00
18  EEET (B4E)3cml)E A8 IH=4E K+ g+ E AR N 5i=0. 5%0. 6+0
BABRIEAs 7745 2 0.300 m2
19 & T (HE) 3em & AAE IH=IE F* g+ A I 5H=0. 5%0. 6+0
FAEBRIEAs 744 )= 0.300 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

IX[#] 00005

JEAR1-2  DIP.GX ¢ 100 filife 358 Tk L

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAAgER 1.=L=5
$ 100 )= 5.000 m
9 RYZFLLRAY—T BT B T=1=5
6 100 g 5.000 m
3 #EEE WU —7 L EW/RT=1=5
$ 100 )= 5.000 m
4 Rk —MAR L B R T=1=5
)= 5.000 m
b Amae—h %R T=1=5
150mm X 50m & 2fZ 410 iAFx b= 5.000 m
6 IEKEER H/KERER=L=5
)= 5.000 m
7 GHEERREINT T AT 7 VMR ST T =52 A P e A - I B =5%2+0
15emZ 2 30cm LA g 10.000 m
8 BRI IRL SRR T 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
& 0.046 m3 AHZEE=(5%2+0)*0. 023*0. 2
9 ERAERNARRE TAT7MMEELERR A AL T = BB + T A N =5%0. 9+0
EXSEANEE  15emA 8.2 40emPL T g 4,500 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T = ForlE + I A INHL=5%0. 9+0
EAEIE10emLA T B 4.500 m2
11 EFK4EHE] BHO0.20m3 PRI TH2=4E FoxE4E=5%0. 9%1. 57
)= 7.065 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.360 m3 0.9%0.2%4
13 R T (BRI A - Bk ) R T T=4ERE=5
L5m<#EHIE=<1.8m N'vy/&v5|ik s 5.000 m
14 EEEHERE (M R) BH0.20m3 PR TUL=4E F*IE*4E=5%0. 9%0. 62
Iyiay bR g 2.790 m3
15 ERME (B RE) BH0.20m3 P 5 T US=4E Fosligisize=5%0. 9%0. 75
RC-40#L & + & 7 5 E g 3.375 m3
16 B R (kg ) BH0.20m3 R TUA=FE Fo*IE4E=5%0. 9%0. 35
M-308 & + & o7 S [E D )= 1.575 m3
17 EEERE BHER) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{& Frkk=0. 5%
Iyay R b= 0.360 m3 0.9%0.2%4
18 B R (ki ) BHO0.20m3 PR BEPERR GOk &) =1 K+ BT FE=—1%5%0. 011
Iyiay bR g -0.055 m3
19  ERPEFEWALIL As . BEAA ALy (R HIED) =Rl i Rk X =4. 5%0. 2
)= 0.900 m3
20 FERRBEIEMALE As BER LSy (S 1E) =i RIS X =4. 5%0. 05
)= 0.225 m3
21 PEPRALEREME BH0.20m3 DTrdt BERA T (BRI = i R+ /R X =4. 5%0. 2
AsHil - Codifl (E55) 2.0kmPA T DIDA & 0.900 m3
22  PEREALVERIEHE BH0.20m3 DTr4t BERTEM (15 1R) =M fd /2 X =4. 5%0. 05
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.225 m3
23 ZA+TERE BH0.20m3 DTr4t 7 - TEWR=H1 53 +H2 53 ik TR 4y (S Hld) — i B8 =0+7.
T# 9.0kmLL T DIDA g 7.425 m3 065+0. 36+00
24  EiZET (HEE-HJE) Senl/E IS |H=FE FHlg + I A TN L =5%0. 9+0
HEBRIEAs 7 T7145 P 4.500 m2
25 Ef%ET (BE - HJE) 5cm2/E (10cm) AAE |H=1E FHIE + I AR N H=5%0. 9+0
HEE7+FHHTT7145 & 4.500 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

BEAR 1 Bl KB e L

X[ 00006 P&#R1-2 DIP.GX ¢ 100 —f%H
NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAis% T.=L=2.5
$ 100 )= 2.500 m
9 RUZFLLAY—THET A T=1=2.5
6 100 g 2.500 m
3 R EWRT—T7 L IR T=1=2.5
$ 100 )= 2.500 m
4 Rk —MAR L IR L=L=2.5
)= 2.500 m
5 A —h BHAR T=1=2.5
150mm X 50m & 2fZ 410 iAFx b= 2.500 m
6 EKEER WK FRER=1=2. 5
)= 2.500 m
7 GHEERREINT T AT 7 MM AR SR T T =2 = R H A N =2, 5%2+0
15emPL T )= 5.000 m
8 BRI IRL SRS TR 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
& 0.006 m3 &HEEE=(2. 5%2+0)*0. 023*0. 05
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + I A N5 =2. 5%0. 6+0
BHEEE10emA T & 1.500 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BexlE + I AN H=2. 5%0. 6+0
EAEIE10emLA T B 1.500 m2
11 EFK4EHE] BHO0.20m3 PEH| TH2=FE Ko lig+i%E=2. 5%0. 6%1. 12
)= 1.680 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.300 m3 0.6%0.2%5
13 EEHEE (W E) BH0.20m3 MBS TUI=E Fo#lig+i%E=2. 5%0. 6%0. 62
ryioay R LR )= 0.930 m3
14 B RE (kg ) BH0.20m3 R T U3=AE R #ilig+{E=2. 5%0. 6%0. 35
RC-40H R + & L\ [ 6D Ve 0.525 m3
15 ‘B E (W E) BH0.20m3 MR B T U4=FE Ko #lig+i%8=2. 5%0. 6%0. 17
M-30H & + &> S5 [E 6 g 0.255 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
7vvar AR = 0.300 m3 0.6%0.2%5
17 EEERE BHER) BH0.20m3 RGN GOk 4 ) =4 =+ Wi fE=—1%2. 5%0. 011
ryioay R LR )= -0.028 m3
18 FREXPEEMALEL As BERA LSy (BEHIFR) =Rl A i FEe /S X =1. 5%0. 05
)= 0.075 m3
19  ERPEFEWALIL As BEA ALy (S 1R =R Fi+ 5 X =1. 5%0. 03
)= 0.045 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BEAA T (PRI =Rl A FEe /S X =1. 5%0. 05
AsBlL - CoBll (44%) 2.0knlL F DIDFA P 0.075 m3
21 FEFEAPLERE BH0.20m3 DTr4t BEAA T (A5 1) =Rl Fe /R X =1. 5%0. 03
AsHil - Codifl (E55) 2.0kmPA T DIDA & 0.045 m3
20 F&ATIEHE BHO0.20m3 DTrdt 7 1 TERR=H1 53 +H2 55 Hik 0 4y (JE HAl i) iR 8 =0+1.
17 9.0kmLL F DIDA g 1.980 m3 68+0.3+00
23 AREET (BEE-HJE) 3cml IS IH=4E F* g+ A I =2, 5%0. 6+0
HABRIEAs TT745 & 1.500 m2
24  EiZET (HEE-HJE) Senl/E ARAE |H=E K+ IE+E A N B=2. 5%0. 6+0
HEBRIEAs 7 T7145 P 1.500 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

X[# 00007

BEA1-2  RRVP ¢ 50

NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPAi % 1.=L=0. 6
® 50 )= 0.600 m
2 WEEH(ke =B EBIRRT—7 L IR L=1L=0.6
650U T g 0.600 m
3 AR — Mk L AR T=1=0. 6
g 0.600 m
4 PR —h R R T=1=0. 6
150mm X 50m,// % 25 0IAF» J= 0.600 m
5 GEERREINT T AT 7V ML SR T T =2 = R R AN =0. 6%2+0
15emPL T )= 1.200 m
6 BEERRI5IRL SRR T 7K AL B = (BlEEAE 4 I+ AR+ I BRD) *0. 023%
& 0.001 m3 &HEEE=(0. 6%2+0)*0. 023*0. 05
7 AREEAREUELURDA BHO0.20m3 AEERE A T =1 BB + I AN E=0. 6%0. 6+0
AAEIE 1 0cm LA T Vs 0.360 m2
8  ERLEANEUELAA BHO0.20m3 SRR A T =1 FexlE + I AN =0. 6%0. 6+0
EAEIE10emLA T B 0.360 m2
9 ‘&M BH0.20m3 PE | TH2=FE e+ +%=0. 6%0. 6%1. 31
)= 0.472 m3
10 B R (kg ) BHO0.20m3 PR TUL=4E F+IE*4E=0. 6%0. 6%0. 56
Iyioay bR g 0.202 m3
11 ERHEE (B E) BH0.20m3 H B T US=4E 5 *E%7ZE=0. 6%0. 6%0. 6
RC-40HL & + & 7 5 [E )= 0.216 m3
12 B R (kg ) BHO0.20m3 R TUA=E F*IE*4E=0. 6%0. 6%0. 17
M-303 & + & > 7 6 [E o g 0.061 m3
13 EEERE (WHER) BH0.20m3 PR RAZERR (BaR ) =4 o W i Afi=—1%0. 6%0. 003
ryioay R LR )= -0.002 m3
14 EFRFEIEME As BEM AL AS (HREIES) =Rk i f 5 £ =0. 36%0. 05
)= 0.018 m3
15 EEERBEIEMMEL As BERF RSy (A8 B) =k i AE*JE X =0. 36%0. 03
)= 0.011 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BERTE M (PR HIER) =i A+ R X =0. 36%0. 05
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.018 m3
17  PEREALFLEME BHO0.20m3 DTr4t BERS T (AE 1H) =i FE+ /5 X =0. 36%0. 03
AsHll - Colifl (E5%) 2.0kmEA T DIDA g 0.011 m3
18 FAE15EHE BH0.20m3 DTrat B B Me=H1 57 +H2 53 HiE T8 45 (4 +lm) —#i 5 =0+0.
17 9.0kmEL F DIDA g 0.472 m3 472+0+00
19 Hh%ET (HEE-¥E)3cnl /@ IS IH=4E F* g+ A I =0, 6%0. 6+0
BRI EAs I )= 0.360 m2
20 EfZE T (HEE-HJE) SenlfE ARE IH=4E K+ IE+EFE N 5R=0. 6%0. 6+0
HEBRIEAs 7 T745 P 0.360 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

BEAR 1 Bl KB e L

XM 00008 #&#R1-3 DIP.GX ¢ 150

NO 4/ 3k ~HE B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAH % T=L=13
® 150 )= 13.000 m
9 RYZFLLRAY—T BT EHRT=L=13
é 150 g 13.000 m
3 R EWRT—T7 L B R T=1=13
® 150 )= 13.000 m
4 Rk —MAR L IR IL=L=13
)= 13.000 m
5 A —h AR T=1=13
150mm X 50m & 2fZ 410 iAFx b= 13.000 m
6 EKEER BAKRER=L=13
)= 13.000 m
7 EREERRUINT T AT 7V MR EREEDIWT T =H5h25 AT K B R ARSI B =13%2+0
15emZ 8 2.30cmlL T g 26.000 m
8 BRI IRL SRS T 7K AL B = (BlEE AE 4 I+ AR+ I BRD) *0. 023%
& 0.120 m3 &hZEE=(13%2+0)*0. 023%0. 2
9 EHEERRAEAE TAT7AMMEEERR PEESE AEERE A T =1 BB + T AN =13%0. 6+0
EXCIAEE  15emZ B2 40emPA T b 7.800 m2
10 AHEEAREUELFSHA BH0.20m3 SRS A T =1 BexlE + I AN H=13%0. 6+0
EAEIE10emLA T B 7.800 m2
11 EFK4EHE] BHO0.20m3 P TH2=4E R+ g +8=13%0. 6%1. 12
)= 8.736 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.300 m3 0.6%0.2%5
13 ERME (B RE) BH0.20m3 P T U1 =4 sligsie=13%0. 6%0. 67
Iyay R g 5.226 m3
14 B RE (kg ) BH0.20m3 PR T U3=ZE R+ g 4E=13%0. 6%0. 25
RC-40H R + & L\ [ 6D Ve 1.950 m3
15 ‘ERMEE (B RE) BH0.20m3 P T U4=4E o sligisfe=13%0. 6%0. 35
M-40H & + 2o 5 [E 6 g 2.730 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
7vvar AR = 0.300 m3 0.6%0.2%5
17 EEERE BHER) BH0.20m3 R GPERR GHTRR ) =4 B8 Wi F=— 1% 13%0. 022
Iyay R g -0.286 m3
18 TEFRFEIEME As BERT ALY (R HIHS) =M A+ X =7. 8%0. 2
)= 1.560 m3
19  ERPEFEWALIL As BEA ALy (S 1R =R i Fi+ 5 X =7. 8%0. 05
)= 0.390 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BERA T (PR 1) =l Rk /5 X =7. 8%0. 2
AsBlL - CoBll (44%) 2.0knlL F DIDFA P 1.560 m3
21 PEPRALEREME BH0.20m3 DTrdt BEAA T (S 1) =Rl Fe /R X =7. 8%0. 05
AsHil - Codifl (E55) 2.0kmPA T DIDA & 0.390 m3
20 F&ATIEHE BHO0.20m3 DTrdt 7 - TERR=H1 53 +H2 5 Hik T8 4y (B HAl i) —#i R 48=0+8.
+# 9.0kmLL T DIDAH )= 9.036 m3 736+0.3+00
23 EREET (BEE-HJE) SemlfE IS 1B =1L S E+ I AR N 5H=13%0. 6+0
HABRIEAs TT745 & 7.800 m2
24  EHEET (HE - FEJE) 5ecm2/E (10cm) ARAE |H=FE FoHlg + I AE N A =13%0. 6+0
B2+ T TA L P 7.800 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

XM 00009 #&#RE1-3 DIP.K ¢ 100

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EHERAEAER T - A B YRS (B k) DIPAis% T.=L=4.5
$ 100 )= 4,500 m
2 RIZFLLR)—THET HRH R T=1=4.5
6 100 g 4.500 m
3 R EWRT—T7 L IR T=1=4.5
$ 100 )= 4,500 m
4 Rk —MAR L IR L=L=4. 5
)= 4.500 m
5 A —h BHAR T=1=4.5
150mm X 50m & 2fZ 410 iAFx b= 4,500 m
6 EHIERRUINT TAT77 VMRS SRR T T =H 2 4 R PR AR B N B =4, 5%2+40
15emZ 8 2 30cmPA T = 9.000 m
7 BEERIGIRAL AL TR K AL Bl = (Bl EEAE B4 I+ AL+ IR *0. 023%
b 0.041 m3 E%EE=(4. 5%2+0) 0. 023%0. 2
8 EHILRRANAE TAT7AMGREERN FEESIE SRR A T =1 BexlE + I AN F =4, 5%0. 7+0
BRI ABE 15emA R 2 40cmPA T g 3.150 m2
9 AREEREUELFHA BH0.20m3 AEERE A T =1 BB + I A N5 =4. 5%0. 7+0
SHEEIE10em LA T B 3.150 m2
10 ‘FHEHI BHO0.20m3 JEHI TH2=4E F-xE*i4E=4. 5%0. Tx1. 07
)= 3.371 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
5 0.280 m3 0.7%0.2%4
12 B R (kg ) BHO0.20m3 PR TUL=4E F*IE*4E=4. 5%0. 7*0. 62
Iyioay bR g 1.953 m3
13 EHHEE (W E) BH0.20m3 MR B T US=AE Ko+ +{%E=4. 5%0. 7*0. 25
RC-40HL & + & 7 5 [E g 0.788 m3
14 B RE (kg ) BH0.20m3 PR TUA=E Fo*E*4E=4. 5%0. 7%0. 35
M-408R & + & o7 S [E D )= 1.103 m3
15 EEERE (R R) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{&5 Frsk=0. 5%
Iyay R b= 0.280 m3 0. 7%0.2%4
16 B RE (kg ) BH0.20m3 B PERR GOk &) =1 K+ Wi Ff=—1%4. 5%0. 011
Iyioay bR g -0.050 m3
17 ERBEFEWALEL As . BEAA ALy (R EIER) =Rl i Fe /R X =3. 15%0. 2
)= 0.630 m3
18 FERFEIEMLIEE As BER LSy (A5 1B) =k FEe 5. X =3. 15%0. 05
)= 0.158 m3
19  PEREALFLEME BH0.20m3 DTr4t BERA T (HE HIFA0) =i FEf+ /R X =3. 15%0. 2
AsHil - Codifl (E55) 2.0kmPA T DIDA & 0.630 m3
20 PEPRNLEEEHE BHO0.20m3 DTrdt BERA T (15 1) =ik FEe 5 X =3. 15%0. 05
AsBlL - CoBll (44%) 2.0knlL F DIDFA P 0.158 m3
21 %4 +1EHE BH0.20m3 DTr4t 7 - TEHR=H1 53 +H2 5+ T 4y (S +l d) —#it B 48=0+3.
T# 9.0kmLL T DIDA g 3.651 m3 371+0.28+00
22 EiZE T (HEE-HJE) Sen 1@ A8 IH=FE S+ g+ EFE I =4, 5%0. 7+0
BABRIEAs 7745 Ve 3.150 m2
23 Af%ET (BE-HJE) 5cm2/E (10cm) A IH=IE F* g+ A I Bi=4. 5%0. 7+0
HEET+FHHTT7A45 & 3.150 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

10

XM 00010 BPI-1 #4&E#&+ T
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE ST T =52 A P e A B I B =1%2+3
15em& 2 30cm LA ™ g 5.000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 4R I+ AL+ I BRD) *0. 023%
& 0.023 m3 AHEEE=(1%2+3)*0. 023*0. 2
3 EMAERRAAR TAT7VMEREERR e A AEERE A T =1 BB+ I AN =1%1. 5+0
EXSEANEE  15emA 8.2 40emPL T g 1.500 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BerlE + AN F =11, 5+0
EAEE10emLA T B 1.500 m2
5 RHEY T BSHIRKHY PR THI=4EFxmE*4E=1%1. 5%0. 63
ANT] 5 0.945 m3
6 ‘FIHEE] BHO0.20m3 JEHI TH2=4E E-xE*iE=1%1. 5%0. 94
)= 1.410 m3
7 R (AR - B L) SRR TR T=ERE=1
1L5m<#BHIE=<1.8m ~'v/ivs|k B 1.000 m
8 BB (FEhE I ) BHO.20m3 R TUL=4E Forfigsge=1%1. 5%1. 12
Tyiay AR g 1.680 m3
9 EIEHE R (kK R) BHO.20m3 H B T US=4E g+ E=1%1. 5%0. 25
RC-40# & + & 7 5 [E )= 0.375 m3
10 B R (kg ) BHO0.20m3 PR TUA=E FoxgE=1%1. 5%0. 35
M-408R & + & o 7 S [E D g 0.525 m3
11 EEERE R R) BH0.20m3 RGN IR &) =1L Fo+ 8 Wrmm g =—1%1%0. 082
Iyioay R LR )= -0.082 m3
12 FERPFEIEMLIE As BERA LSy (BRI =Rl A FER S X =1. 5%0. 2
)= 0.300 m3
13 ERRBEFEMALEL As . BEA ALy (B 1) =Rl i FEe /R X =1. 5%0. 05
)= 0.075 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERA T (PR I =Rl A Rk /S X =1. 5%0. 2
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.300 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (A8 1) =Rl Fe /R X =1. 5%0. 05
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.075 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=11 45 +H2 45+ T4 45 (B +RI ) — i3 7%=0. 94
17 9.0kmLL F DIDA g 2.355 m3 b+1.41+0+00
17 & T (EE-¥E)5eml /& A B =E g+ I AR IR =1%1. 5+0
BRI EAs I )= 1.500 m2
18 Ef%E T (HIE-¥JE) 5em2/& (10cm) ARAE |H=E FoHlg + AR N A =1%1. 5+0
BT +FHTTA L P 1.500 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

XM 00011 EP1-1 #&##&+T

11 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS ST T =52 A i AN B =0. 75%2+2. 2
15emPL T )= 3.700 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 4 I+ AL+ I BRD) *0. 023%
5 0.003 m3 &EfEEE=(0. 75%2+2. 2)*0. 023%0. 03
3 AEEAREUELUADA BHO0.20m3 SR T =S Robg+ i A N =0, 75%1. 1+0
SRR 1 0em L T B 0.825 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BexlE +IE AN F=0. 75%1. 1+0
EAEE10emLA T B 0.825 m2
5 RHEY T BSHIRKHY PEH THI=2ER*hE* =0, 75%1. 1%0. 63
ANT] 5 0.520 m3
6 ‘FIHEE] BHO0.20m3 I TH2=4E E*g*22=0. 75%1. 1%0. 95
)= 0.784 m3
7 R (R R A - B ) SRR T T=ER=0.75
L5m<#EHIE=<1.8m ~'v/&v5|ik s 0.750 m
8 BB (FEhE I ) BHO.20m3 5 T U= FE*g*4E=0. 75%1. 1*%0. 81
Tyiay AR g 0.668 m3
9 EHHEE (W) BH0.20m3 R TUA=SE R #IEE=0. 75%1. 1%0. 77
RC—40H R + & 7 FE[E D 2 0.635 m3
10 B R (kg ) BHO0.20m3 B PERR GOk &) =4 K+ Wi F=—1%0. 75%0. 01
Iyioay bR g -0.008 m3
11 ERRBEFEWALEL As . BER ALy (B I ) = Ak i Fix /R & =0. 825%0. 03
)= 0.025 m3
12 EERBEEMALE As BER LSy (A5 1H) =k A i FER /S X =0. 825%0. 03
)= 0.025 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BE HIFA0) =l i FE+ /R X =0. 825%0. 03
AsHil - Codifl (%) 2.0kmPA T DIDA & 0.025 m3
14 PEREALEEM: BH0.20m3 DTr4t BERA T (AE 1H) =k A i FER /S X =0. 825%0. 03
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.025 m3
15 A +5#EME BHO0.20m3 DTr4t B 1 TEHR=H1 53 +H2 53 ik TR 40 (S +ll ) — #5485 =0. 52
T# 9.0kmLL T DIDA g 1.304 m3 +0.784+0+00
16 & (B3E)3cml)E A8 IH=FE FoHlg + AR N R =0. 75%1. 140
HEBRIEAs 7 T745 P 0.825 m2
17 & T (E) 3eml & ARG B =1L Forlg + i FE N5 =0. 75%1. 1+0
BRI EAs 74N )= 0.825 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

12

X[ 00012 EP1-2 ‘“&Eif&L T
NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SHAED) B T =545 AT B R H S« AR BN =0, 5%2+1. 8
15emPL T )= 2.800 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
5 0.002 m3 EfZEE=(0.5%2+1.8)*0. 023%0. 03
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN S=0. 5%0. 9+0
AAEIE 1 0cm LA T Vs 0.450 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BexdE + I AN =0. 5%0. 9+0
EAEE10emLA T B 0.450 m2
5 RHEY T BSHIRKHY PEH THI=4EF*ME*4=0. 5%0. 9%0. 6
ANT] 5 0.270 m3
6 ‘FIHEE] BHO0.20m3 1] T H2=4E B # R %7E=0. 5%0. 9%0. 91
)= 0.410 m3
7 R (R R A - B ) SRR T T=4EE=0.5
1L5m<#BHIE=<1.8m ~'v/ivs|k B 0.500 m
8 BB (FEhE I ) BHO.20m3 R TUL=4E Rexfig+42=0. 5%0. 9%0. 76
Tyiay AR g 0.342 m3
9 EEME (B R) BH0.20m3 H B T US=4E 5 *E%7ZE=0. 5%0. 9%0. 6
RC-40# & + & 7 5 [E g 0.270 m3
10 B R (kg ) BHO0.20m3 R TUA=E F#IE*4E=0. 5%0. 9%0. 17
M-30 & + & > 7 S [E o g 0.077 m3
11 EEERE R R) BH0.20m3 PR RAZERR (HaR ) =4t e W i Afi=—1%0. 5%0. 003
Iyioay R LR )= -0.002 m3
12 EERBEEMALE As BER LS5 (BRAEIER) =R AR X =0. 45%0. 03
)= 0.014 m3
13 EEZEEIEMIR As - FERA AL Sy (RS |H) =REAPR i Rk S =0. 45%0. 03
)= 0.014 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE M (B HER) = A+ 8 X =0. 45%0. 03
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.014 m3
15 PEREALFLEME BH0.20m3 DTr4t BERS T (AE 1H) =i FE+ /R X =0. 45%0. 03
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.014 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 (B +A ) 3574 =0. 27
17 9.0kmLL F DIDA g 0.680 m3 +0.41+0+00
17 ST (HEE-#E)3cnl /@ IS IH =4 F* g+ i A I =0, 5%0. 9+0
BRI EAs I )= 0.450 m2
18 Ei%ET (HIE-HJE)Senl)E ARAE IH=4E K+ g+ EFE N 5=0. 5%0. 9+0
HEBRIEAs 7 T745 P 0.450 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

13

X[H 00013 EP1-3 ‘s 1T
NO b4,/ 3i#s -~k B g HAL EHEKX
1 BEEERRUINT TAT7V MRS SRAED) B =545 AT B AR H A« AR B IN =0, 75%2+2. 2
15emPL T )= 3.700 m
2 BRI IRAL SRR ) TR 7K AL B = (BlEE AE 4 I+ AL+ I BRD) *0. 023%
5 0.004 m3 EEEE=(0.75%2+2. 2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB + I AN =0. 75%1. 140
SEEEE 1 0em L T g 0.825 m2
4 EREERRITUE LA BHO.20m3 RN T =JE SR+ AR N B=0. 75%1. 1+0
EAEE10emLA T B 0.825 m2
5 KEEY b BUREKHY PR THI=ZE K+ g +%=0. 75%1. 1%0. 63
ANT] 5 0.520 m3
6 ‘FIHEE] BHO0.20m3 JE I TH2=4E -+ *E=0. 75%1. 1%0. 94
)= 0.776 m3
7 R (R R A - B ) SRR T T=ER=0.75
1L5m<#BHIE=<1.8m ~'v/ivs|k B 0.750 m
8 A L (Kb 5) BHO.20m3 PR T U1 =4 Fxlig%42=0. 75%1. 1%0. 82
Tyiay AR g 0.677 m3
9 EEME (B R) BH0.20m3 PR B TUS=ZE oM@ #iZ8=0. 75%1. 1%0. 4
RC-40# & + & 7 5 [E g 0.330 m3
10 /& 5EHE B (Kebik I 52) BHO.20m3 P T U4=4EFxlig%42=0. 75%1. 1%0. 35
M-40 & + & > 7 S5 [E o g 0.289 m3
11 EEERE R R) BH0.20m3 PR RZERR CHTRR &) =4 Fox & W i f=—1%0. 75%0. 011
Iyay R )= -0.008 m3
19 HERFEEMIIE As FEM ALy (B IS ) =ABere i F 5 < =0. 825%0. 05
)= 0.041 m3
13 ERRBEFEMALEL As . FEA ALy (15 1R) = i Ff+ /5 X =0. 825%0. 05
)= 0.041 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERE My (PR HIER) = mm A+ R X =0. 825%0. 05
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.041 m3
15 PEREALFLEME BH0.20m3 DTr4t BERA T (5AE 1) =l A FE+ /R X =0. 825%0. 05
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.041 m3
16 &4 5@ BHO0.20m3 DTrdt T B R=H1 45 +H2 45+ T4 45 B HA ) — 2545 =0. 52
17 9.0kmLL F DIDA g 1.296 m3 +0.776+0+00
17 & T (EE-¥E)5eml /& A IH=E g+ I AR I H=0. 75%1. 140
FAEBRIEAs 744 )= 0.825 m2
18 Ef%E T (HIE-¥JE) 5em2/& (10cm) ARAE |H=E FoHlg + AR N R =0. 75%1. 140
BT +FHTTA L P 0.825 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

XM 00014 JRM-ERRE L

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAis% T.=L=2.3
o 1500 Vs 2.300 m
9 RUZFLLAY—THET A T=1=2.3
O T5LLT g 2.300 m
3 R EWRT—T7 L R T=1=2.3
675 )= 2.300 m
4 Rk —MAR L IR L=L=2. 3
)= 2.300 m
5 A —h AR T=1=2.3
150mm X 50m & 2fZ 410 iAFx b= 2.300 m
6 EHIERRUINT TAT7 VMRS SRR T T =H 2 4 R PR AR B N B =2, 3%2+40
15emPL T B 4.600 m
7 BEERIGIRAL AL TR K AL BR= (Bl EEAE B I+ AL+ IR *0. 023%
b 0.003 m3 EHEEE=(2. 3%2+0)*0. 023%0. 03
8  ERLEANEUELAA BHO0.20m3 SRR A T =1 BexlE + I AN F=2. 3%0. 6+0
AR 10em L T i 1.380 m2
9 AREEREUELFHA BH0.20m3 AEERE A T =1 BB + I A N5 =2. 3%0. 6+0
SRR 10em L T B 1.380 m2
10 ‘“&¥4EE] BHO.20m3 JEHI TH2=4E F-xE*4E=2. 3%0. 6%0. 86
)= 1.187 m3
11 EFK4EHE] BHO0.20m3 R T G - JB30) =JER A LafEWasiZE A H+ & Frk=0. 5%
5 0.240 m3 0.6%0.2%4
12 B R (kg ) BHO0.20m3 PR TUL=4E F*IE*4E=2. 3%0. 6%0. 59
7yvar AR 2 0.814 m3
13 EEIERE (R RE) BH0.20m3 B T UA=FE S #liE+E=2. 3%0. 6%0. 27
RC-40# 2 + &> 7 5 E o g 0.373 m3
14 ERHE (B R BH0.20m3 PREE T (R - JEE50) =JE R A LxiEWasiZE A H+ {5 Frkk=0. 5%
7yvar AR R 2 0.240 m3 0.6%0.2%4
15 EEERE (R R) BH0.20m3 R GPERR IR ) =1L Fo+ 48 Wr i g =—1%2. 3%0. 007
Iyioay R LR )= -0.016 m3
16 TEFRFEIEMNE As BERT ALy (R HIES) =ik i+ X =1. 38%0. 03
)= 0.041 m3
17 AERRBEFEWALIE As FEA ALy (A5 1R =R A i F+ 5 X =1. 38%0. 03
)= 0.041 m3
18 PEREALEEIERE BH0.20m3 DTr4t BERA T (PRI =il A FEe 5 X =1. 38%0. 03
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.041 m3
19 PEPRALFERE BH0.20m3 DTr4t BERS T (AE 1H) =ik FE+ /R X =1. 38%0. 03
AsHil - Codifl (E55) 2.0kmPA T DIDA & 0.041 m3
20 F&ATIEHEF BH0.20m3 DTrdt B L EPR=H1 53 +H2 53+ TR 43 (A Hl ) — it 58 =0+1.
17 9.0kmEL F DIDA g 1.427 m3 187+0.24+00
21  EhEET. (RE) 3em 1) 148 [B =1L Fo+hg -+ FE N E=2. 3%0. 6+0
FAEBRIEAs 744 )= 1.380 m2
22  EHET (HE) 3cmlfE ARAE IH=E K+ g+ E A N R =2. 3%0. 6+0
HEBRIEAs T745 P 1.380 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

15

X[ 00015 F/AKHECE VP50 HaEHED
NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPAf % T=L=2
® 50 )= 2.000 m
o EREERRYINT T AT77 VMR SR G T T =52 4 = P8 AR B I B =242+0
15emPL T B 4.000 m
3 BEERIGIRAL S T K L EE = (Bl EEAE 1= B IR A K HIN L) 0. 023%
b 0.003 m3 &%= (2%2+0)*0. 023%0. 03
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BerlE + T AN H=2%0. 6+0
AR 10em L T g 1.200 m2
5 AHLEAREUELURDA BHO0.20m3 AEERE A T = BB + T A N =2%0. 6+0
SEE 1 0em L T & 1.200 m2
6 ‘FIHEE] BHO0.20m3 I TH2=4E - sigE=2%0. 6%1. 33
)= 1.596 m3
7 E LR (B ) BHO0.20m3 PR B T U1 =% sl #78=2%0. 6%0. 56
Iioay R LR )= 0.672 m3
8 BB (Fhg I ) BHO.20m3 MR T U4=4E Rerfigixi4e=2%0. 6%0. 77
RC—40HL = + Z > S [E 8 = 0.924 m3
9 EEIERE (WHIERE)BH0.20m3 PR RAZERR (GHaR ) =4 Fox & W i Al =— 1%2%0. 003
Iioay R LR )= -0.006 m3
10 FHEERBEEEMALER As BEAA ALy (HRHIER) =R i Fx 5 X =1. 2%0. 03
)= 0.036 m3
11 ARRBEFTEWALIE As FEM LSS (RAE IR =l e Fie /5 £ =1. 2%0. 03
)= 0.036 m3
12 PEREALEEIERE BH0.20m3 DTr4t BER E My (PR D) =i A+ < =1. 2*0. 03
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.036 m3
13 PEPRALFERE BH0.20m3 DTr4t BEAA T (A5 1) =Rl i Fe /R X =1. 2%0. 03
AsHil - Codifl (%) 2.0kmPA T DIDA & 0.036 m3
14 FAE5EH BH0.20m3 DTrat B L TER=H1 53 +H2 53+ TR 43 (S +l ) — i 58 =0+1.
17 9.0kmLL F DIDA g 1.596 m3 596+0+00
15 E%ET (R5E) 3eml @ A8 1R =4 g+ F N B =2%0. 6+0
BRI EAs I )= 1.200 m2
16 & (B3E)3cml)E ARAE |H=FE FoHlg + A TN R =2%0. 6+0
HEBRIEAs 7 T745 P 1.200 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

X[ 00016 FE/K ABLE

VP 50 HIEED

16

NO b4,/ 3i#s -~k B g HAL EHEKX
1 WEHEkE=VE PR T VPAi R L=L=1.5
® 50 )= 1.500 m
2 EHIERRUINT T AT 7 VMRS R SRR T T =Hl 2 4 R R AR B N B =1, 5%2+0
15emZ 8 2 30cmPA T = 3.000 m
3 BEERIGIRAL A TR K AL BR= (Bl EE AT B4 I+ AL+ IR *0. 023%
b 0.014 m3 &%= (1. 5%2+0)*%0. 023%0. 2
4 EREERRANAE TAT7AMGREERR REES IR SRR A T =1E BexlE+ AN F=1. 5%0. 6+0
BRI ABE 15emA R 2 40cmPA T g 0.900 m2
5 AHLEAREUELURDA BHO0.20m3 AEERE A T =1 BB+ I A NS =1. 5%0. 6+0
AAEIE 1 0cm LA T Vs 0.900 m2
6 ‘FIHEE] BHO0.20m3 P TH2=4E R *E=1. 5%0. 6%1. 01
)= 0.909 m3
7 ERIERE (B ) BHO.20m3 P 5L T U1 =4 fligsize=1. 5%0. 6%0. 56
Iyay R g 0.504 m3
8 BB (Fhg I ) BHO.20m3 R TUS=HE Fexfigxi4e=1. 5%0. 6%0. 25
RC-40H R + & o\ [ 6D Ve 0.225 m3
9 EEME (B R) BH0.20m3 P 5L T U4=4E Fsligsiie=1. 5%0. 6%0. 35
M-40H B + 2> 5 [E 6 g 0.315 m3
10 B R (kg ) BHO0.20m3 B PERR GOk ) =4 Ko+ Wi ff=—1%1. 5%0. 003
Iyioay bR g -0.005 m3
11 ERRBEFEWALEL As . BEAA ALy (B HIED) =Rl A i FEk /R & =0. 9%0. 2
)= 0.180 m3
12 EERBEEMALE As BER LSy (A5 1H) =i FER IR X =0. 9%0. 05
)= 0.045 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BRI =i R /R X =0. 9%0. 2
AsHil - Codifl (%) 2.0kmPA T DIDA & 0.180 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERTEM (15 1R) =M fd /&= X =0. 9%0. 05
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.045 m3
15 A +5#EME BHO0.20m3 DTr4t 7 - TEWR=H1 53 +H2 53 ik T8 43 (S +l d) —#it & 48=0+0.
+# 9.0kmLL T DIDA g 0.909 m3 909+0+00
16 Ei%ET (HE-HE) Sl )E IAE IH=E F+ g+ E A I =1, 5%0. 6+0
HEBRIEAs 7 T745 P 0.900 m2
17 &f%E T (EE-#E) 5ecm2/E (10cm) A IH=IE F+ g+ A I H=1. 5%0. 6+0
HEX7+FHHTTA5 & 0.900 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

X[ 00017 EP1-3 ¥eidHEE

PP ¢ 25 HIIE D

17

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE SREEY) W =545 AT PR H S« AR BN =3, 6%2+0
15em& 2 30cm LA ™ g 7.200 m
2 BRI IRAL SRR T 7K AL B = (B S AE 40 I+ AL+ I BRD) *0. 023%
& 0.033 m3 &%= (3. 6%2+0)*0. 023%0. 2
3 EMAERRAAR TAT7VMEREERR e A AEERE A T =1 BB + I AN =3. 6%0. 6+0
EXSEANEE  15emA 8.2 40emPL T g 2.160 m2
4 FRYEE] BHO0.20m3 1] T H2=4E F M %T%=3. 6%0. 6x0. 13
g 0.281 m3
5 AR (B E) BHO.20m3 H B T U1 =4E Ee g ZE=3. 6%0. 6%0. 28
RC-40# & + & 7 5 [E g 0.605 m3
6 B (FEh I ) BHO.20m3 B PERR GOk &) =4 5+ Wi F=—1%3. 6%0. 001
RC-40H R + & L\ [ 6D Ve -0.004 m3
7 ERRBEFEMALEL As . BEAA ALy (R EIER) =Rl Fe /R X =2. 16%0. 2
g 0.432 m3
8 PEFENLFYEH: BHO0.20m3 DTr4t BERTE M (PR D) =i A+ 2 <=2, 16%0. 2
As3lL - CoBll (44%) 2.0kn2L F DIDFA P 0.432 m3
9 /A +JEME BH0.20m3 DTr4t 7 - TEWR=H1 53 +H2 53+ T8 43 (S Hl d) —#it & 48=0+0.
+# 9.0kmLL T DIDA g 0.281 m3 281+0+00
10 EEET (HE-HJE)SonlE IAE IH=4E F+ g+ E AR N 5=3. 6%0. 6+0
BABRIEAs 7745 Ve 2.160 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

18

X[ 00018 EP1-3 VL MELE PP 25 ANEES
NO 4/ 3k ~HE B ¥ BN FHER
1 BEEERRUINT TAT7V MRS AREE T T =4 A R B H A AN =2, 9%2+40
15emPL T )= 5.800 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
) 0.004 m3 Hfi%E/E=(2. 9%2+0) *0. 023%0. 03
3 AHREMRIBUELADA BHO.20m3 AR T =4 S+ AR IS =2. 9%0. 640
AAEIE 1 0cm LA T Vs 1.740 m2
4 FRYEE] BHO0.20m3 P T H2=4E M *E=2. 9%0. 6%0. 3
)= 0.522 m3
5 AR (B E) BHO.20m3 HBE T U1 =4E S5 ZE=2. 9%0. 6%0. 3
RC-40# & + & 7 5 [E g 0.522 m3
6 B (FEh I ) BHO.20m3 MR RERR GOk &) =IE fo+ 8 Wr i Fi=—1%2. 9%0. 001
RC-40H R + & L\ [ 6D Ve -0.003 m3
7 ERRBEFEMALEL As . BER L5y (BRI =R FE /R X =1. 74%0. 03
)= 0.052 m3
8 PEFENLFYEH: BHO0.20m3 DTr4t BERTE M (PR HIER) =i AR+ R X =1. 74%0. 03
As3lL - CoBll (44%) 2.0kn2L F DIDFA P 0.052 m3
9 /A +JEME BH0.20m3 DTr4t B - TEWR=H1 53 +H2 53 ik T8 43 (S Hl d) —#it &4 =0+0.
+# 9.0kmLL T DIDA g 0.522 m3 522+0+00
10 &% (B3E)3cnl)E IAE IH=4E S+ g+ E A N B=2. 9%0. 6+0
BABRIEAs 7745 Ve 1.740 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

X[ 00019 EP1-3 Ve HAEERIE HiEsp

19 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 SEERTUELRGA BHO.20m3 H R T =4 S+ RIS =3. 6%0. 640
AAEIE 1 0cm LA T Vs 2.160 m2
2 ERLERNEUELAEA BHO0.20m3 SRR A T =1 BexlE + I AN =3. 6%0. 6+0
EAEE10emLA T B 2.160 m2
3 EIHEEI] BHO0.20m3 PE | TH2=%E Ko #lig+i%E=3. 6%0. 6%0. 28
)= 0.605 m3
4 R (FE I ) BHO.20m3 R TUL=4E Rexfig*42=3. 6%0. 6%0. 28
RC-40H R + & o\ [ 6D 2 0.605 m3
5 ERRBEFEMALEL As . BER L5y (BRI =R FE /8 X =2. 16%0. 05
)= 0.108 m3
6 FERFEIEMLIE As BER LSy (A5 1H) =ik A FEe 5 X =2. 16%0. 05
)= 0.108 m3
7 PEREALPLEME BH0.20m3 DTrdt BERA T (BRI =R R+ /R X =2. 16%0. 05
AsHll - Codifl (%) 2.0kmEA T DIDA & 0.108 m3
8 PEFENLFYEH: BHO0.20m3 DTr4t BERTEM (AE 1H) =i AR+ R X =2. 16%0. 05
As3lL - CoBll (44%) 2.0kn2L F DIDFA P 0.108 m3
9 /A +JEME BH0.20m3 DTr4t 7 - TEWR=H1 53 +H2 53 ik T8 43 (S Hl d) —#it & 45=0+0.
+# 9.0kmLL T DIDA g 0.605 m3 605+0+00
10 EEET (HE-HJE)SonlE IAE IH=4E F+ g+ E AR N 5=3. 6%0. 6+0
BABRIEAs 7745 Ve 2.160 m2
11 &f%E T (EE-#E) 5ecm2/E (10cm) A IH=IE F* g+ A I H=3. 6%0. 6+0
HEE7+FHHTT7A45 I 2.160 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

20 H

X[ 00020 EP1-3  BEifHECERE  AHE
NO b4,/ 3i#s -~k B g HAL EHEKX
1 EERNEUELFHA BHO0.20m3 AEERE A T =1 BB + I A N5 =2. 9%0. 6+0
SEEEE 1 0em L T A 1.740 m2
2 HEERURUELATNA BHO.20m3 SRR R T=HE SR TR INGE=2. 9%0. 6+0
EAEE10emLA T B 1.740 m2
3 EIHEEI] BHO0.20m3 PE | TH2=E e+ +%E=2. 9%0. 6%0. 3
)= 0.522 m3
4 R (FE I ) BHO.20m3 PR TUL=4E F*IE*4E=2. 9%0. 6%0. 3
RC-40H R + & o\ [ 6D 2 0.522 m3
5 ERRBEFEMALEL As . BER L5y (BRI =R FE /R X =1. 74%0. 03
)= 0.052 m3
6 FERFEIEMLIE As BER LSy (A5 1H) =ik A FEe S X =1. 74%0. 03
)= 0.052 m3
7 PEREALPLEME BH0.20m3 DTrdt BERA T (BRI =R A R+ /R X =1. 74%0. 03
AsHll - Codifl (%) 2.0kmEA T DIDA & 0.052 m3
8 PEFENLFYEH: BHO0.20m3 DTr4t BERTEM (AE 1H) =i AR+ R X =1. 74%0. 03
As3lL - CoBll (44%) 2.0kn2L F DIDFA P 0.052 m3
9 /A +JEME BH0.20m3 DTr4t B - TEWR=H1 53 +H2 53 ik T8 43 (S Hl d) —#it &4 =0+0.
+# 9.0kmLL T DIDA g 0.522 m3 522+0+00
10 &% (B3E)3cnl)E IAE IH=4E S+ g+ E A N B=2. 9%0. 6+0
BABRIEAs 7745 Ve 1.740 m2
11 & T (E) 3em L & A IH=IE F* g+ A I Hi=2. 9%0. 6+0
FAEBRIEAs 744 )= 1.740 m2




+ TEHEHEE 21 ®H

(BEHT-5) Bl KA A s s T3
BEAR 1 BLKEAMRR T

X[ 10001 #AEO

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE ST T =52 A i e A B I B =1%2+2
15em& 2 30cm LA ™ g 4,000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.018 m3 EiEEE=(1%2+2)*0. 023%0. 2
3 ERIERRAEAE TAT7VMERSERR S A A AEERE A T =1 BB+ I AN =1%1+0
EXSEANEE  15emA 8.2 40emPL T g 1.000 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BerlE + AN H =1%1+0
AR 10em L T g 1.000 m2
5 KEEY b BUREKHY PR THI=AE Fexi@*iz=1%1%0. 4
ANT] 5 0.400 m3
6 ‘FIHEE] BHO0.20m3 PR TH2 =2 FxlE*2=1%1*0. 6
g 0.600 m3
7 ERMERE (BT R) BHO0.20m3 R T UL =3 R li@E=1%1%0. 4
Iyay R g 0.400 m3
8 BB (Fhg I ) BHO.20m3 PR T US=HIE i xi4e=1%150. 4
RC-40H R + & o\ [ 6D Ve 0.400 m3
9 EEME (B R) BH0.20m3 IR 5 T U4=%E e li@#8=1%1%0. 35
M-40H B + 2> 5 [E 6 g 0.350 m3
10 B R (kg ) BHO0.20m3 R EIVERR (3B ER ) =k B/ W i Af=—1%1%0. 058
7yvar AR 2 -0.058 m3
11 EEERFEIEWAEE As BERTRLAy (BRI = i A+ X =1%0. 2
g 0.200 m3
12 FEERBEEEMALER As BEA ALy (A5 IR =Rl A )& & =130, 05
g 0.050 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BRI =R FE /R X =1%0. 2
AsHil - Codifl (%) 2.0kmPA T DIDA & 0.200 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERTEM (18 1R) =i fix /= S =1%0. 05
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.050 m3
15 A +5#EME BHO0.20m3 DTr4t 7 - R=H1 53 +H2 53 ik T AR 4y (IS +l i) — i 545 =0. 4+
T# 9.0kmLL T DIDA g 1.000 m3 0.6+0+00
16 A% T (EE - #5) Sem 1@ A B =E FoH g+ E AR I R =1%1+0
HEBRIEAs 7 T745 P 1.000 m2
17 &f%E T (EE-#E) 5ecm2/E (10cm) AAE IH=IE g+ A I R=1%1+0
HEX7+FHHTTA5 & 1.000 m2
18 EEEkT—Hh R R T=1=1.0
150mm X 50m,// % 25 0IAF» J= 1.000 m
19 ik — Mgk T FHAR T=1=1.0

i

.000 m




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

X[ 10002 #AIEO

22

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) B T =545 0T B AR B« ARSI =1%2+2
15emPL T )= 4,000 m
2 BRI IRAL SRR TR 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.005 m3 &hEEE=(1%2+2)*0. 023%0. 05
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
AAEIE 1 0cm LA T Vs 1.000 m2
4RIV T BIGHKISHY JEHE TH1=JE B+ ZE=1%1%0. 46
A B 0.460 m3
5 EIHEEI] BHO0.20m3 PR TH2=%E Fexg*iZE=1%1%0. 69
)= 0.690 m3
6 B (Fh I ) BH0.20m3 MR TUL=4E i+ 4e=1%1%0. 4
Tyiay bR g 0.400 m3
7 ERMRE (BT R) BHO0.20m3 P B TUS=ZE sl ZE=1%1%0. 6
RC-40#L & + & 7 5 [E g 0.600 m3
8 B (FhR I ) BHO.20m3 R T U4=SE Rerfigxfe=1%1%0. 17
M-303 & + & > 7 S [E o g 0.170 m3
9 ERRBEIEMILIE As . BEAA ALy (B HIED) =Rl i FEe /R X =1%0. 05
)= 0.050 m3
10 PEBEALEEIERE BH0.20m3 DTr4t BERA TE R (PR ANER) =T A+ 2 < =1%0. 05
AsBlL - CoBll (44%) 2.0knlL F DIDFA JE 0.050 m3
11 ZAE+5#EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 40 (S +ll ) — #5485 =0. 46
T# 9.0kmLL T DIDA )= 1.150 m3 +0.69+0+00
12 HEET (HE-KE)3al)E IAE B =E FoH g+ E AR I R =1%1+0
BABERIEAs 7745 2 1.000 m2
13 Ik —h FHAR T=1=1.0
150mm X 50m /& 2fZ 410 iA Fx b= 1.000 m
14 Rk —MMiR L R IL=L=1.0
)= 1.000 m




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

X[E 10003 FAAEO

23 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) B T =545 0T B AR B« ARSI =1%2+2
15ecmPL T )= 4,000 m
2 BRI IRAL SRR T 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
& 0.003 m3 &hTEE=(1%2+2)*0. 023%0. 03
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
SEE 1 0em L T 2 1.000 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BerlE + AN H =1%1+0
EEEE 10em L T b 1.000 m2
5 KEEY b BUREKHY PR THI=AE Fex*i=1%1%0. 43
ANT] 5 0.430 m3
6 ‘FIHEE] BHO0.20m3 PR TH2= 7 Fxfif #2=1%1%0. 64
)= 0.640 m3
7 E LR (B ) BHO0.20m3 PR B T UT=%E sl 8=1%1%0. 3
Iyay R g 0.300 m3
8 BB (Fhg I ) BHO.20m3 MR T U4=SIE i xqe=1%1%0. 77
RC-408 &+ # o /3Fh[E D = 0.770 m3
9 EFRBEFEWALIE As BEAA ALy (R HIED) =Rl i FEe /R X =1%0. 03
g 0.030 m3
10 FHEERBEEEMALER As FER LSS (RS 1H) =R R AR K =1%0. 03
)= 0.030 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI =R e R+ /R X =1%0. 03
AsHiL - Codifl (E5%) 2.0kmEA T DIDA & 0.030 m3
12 PEREALEEIERE BH0.20m3 DTr4t BEM TE R (A 1H) = A2 < =1%0. 03
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.030 m3
13 F/AE+5EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 40 (S +llm) — #5485 =0. 43
+# 9.0kmLL T DIDA g 1.070 m3 +0.64+0+00
14 HHEET (0E) 3cn 1 & IAE B =E FH g+ E A I R =1%1+0
HEBRIEAs 7 T74L P 1.000 m2
15 & T (H5E) 3eml & AAE IH=IE g+ A I R=1%1+0
FAEBRIEAs 744 )= 1.000 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

X[E 10004 #IE@

24 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) B T =545 0T B AR B« ARSI =1%2+2
15ecmPL T )= 4,000 m
2 BRI IRAL SRR T 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
& 0.003 m3 &hTEE=(1%2+2)*0. 023%0. 03
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
SEE 1 0em L T 2 1.000 m2
4 EREERNEUELAA BHO0.20m3 SRR A T =1 BerlE + AN H =1%1+0
EEEE 10em L T b 1.000 m2
5 KEEY b BUREKHY PR THI=AE Eex@*ig=1%1%0. 47
ANT] 5 0.470 m3
6 ‘FIHEE] BHO0.20m3 PR TH2 =2 sl 2=1%1%0. 7
g 0.700 m3
7 E LR (B ) BHO0.20m3 PR T U =% sl Z8=1%1%0. 4
Iyay R g 0.400 m3
8 BB (Fhg I ) BHO.20m3 MR T U4=SIE i xqe=1%1%0. 77
RC-408 &+ # o /3Fh[E D = 0.770 m3
9 EFRBEFEWALIE As . BEAA ALy (R HIED) =Rl i FEe /R X =1%0. 03
g 0.030 m3
10 FHEERBEEEMALER As FER LSS (RS 1H) =R R AR K =1%0. 03
g 0.030 m3
11 PEREALFLEME BHO0.20m3 DTr4t BERA T (BRI =R e R+ /R X =1%0. 03
AsHiL - Codifl (E5%) 2.0kmEA T DIDA & 0.030 m3
12 PEREALEEIERE BH0.20m3 DTr4t BEM TE R (A 1H) = A2 < =1%0. 03
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.030 m3
13 F/AE+5EME BHO0.20m3 DTr4t B - TEHR=H1 53 +H2 53 ik TR 4y (IS +llm) — #5485 =0. 47
+# 9.0kmLL T DIDA g 1.170 m3 +0.7+0+00
14 HHEET (0E) 3cn 1 & IAE B =E FH g+ E A I R =1%1+0
HEBRIEAs 7 T74L P 1.000 m2
15 & T (H5E) 3eml & AAE IH=IE g+ A I R=1%1+0
FAEBRIEAs 744 )= 1.000 m2
16 IEis—h R R T=1=1.0
150mm X 50m,/ % 254 0IAF» J= 1.000 m
17 Bk — Mgk T FHAR T=1=1.0
B 1.000 m




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

25

X[ 10005 FRIEEB
NO b4,/ 3i#s -~k B g HAL EHEKX
1 ERAERRGINT TAT7AMEEE SHAEY) B T =545 0T B AR B« ARSI =1%2+2
15ecmPL T )= 4,000 m
2 BRI IRAL SRR T 7K AL B = (Bl S AE 4 I+ AL+ I BRD) *0. 023%
& 0.003 m3 &hTEE=(1%2+2)*0. 023%0. 03
3 AEEAREUELUADA BHO0.20m3 AEERE A T =1 BB+ I AN =1%1+0
SRR 1 0em L T B 1.000 m2
4 FRYEY T BUGHIKHY JEHE TH1=JE B g+ E=1%1%0. 47
A B 0.470 m3
5 EIHEEI] BHO0.20m3 PR TH2=4E Fex*iZE=1%1%0. 7
g 0.700 m3
6 B (Fh I ) BH0.20m3 MR TUL=4E i+ 4e=1%1%0. 4
7yvar AR 2 0.400 m3
7 E LR (B ) BHO0.20m3 PR B T U4=%E R sl Z8=1%1%0. 77
RC-40M &+ Z L ki [ED g 0.770 m3
§  EIFFEIMILIT As BERA LSy (BEHIFD) =Rl i FEe /5 X =1%0. 03
g 0.030 m3
9 PEREALFLEWE BH0.20m3 DTrdt BERA T (BRI =R e R+ /R X =1%0. 03
AsHil - Colifl (E55) 2.0kmEA T DIDA & 0.030 m3
10 &4 15&EHE BHO0.20m3 DTrdt T 1 ER=T1 45 +H2 45+ T4 45 (B +A ) — 3574 =0. 47
+# 9.0kmLL T DIDH = 1.170 m3 +0.7+0+00
11 AT (HEE-¥E)3cnl /@ IS 1B =L F* g+ A I Ri=1%1+0
FAEBRIEAs 744 )= 1.000 m2
12 Bk —h R R T=1=1.0
150mm X 50m,/ % 2fZHr0IAF» J= 1.000 m
13 ik — Mgk T FHAR T=1=1.0
B 1.000 m




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

Fepr 1 BlKEAMR L

X[E 10006 FAAEO®

26 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EREERRGIWT TAT7AMGAE SHAEY) B T =545 0T B AR B« ARSI =1%2+2
15em& 2 30cm LA ™ g 4,000 m
2 BRI IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.018 m3 &HEEE=(1%2+2)*0. 023*0. 2
3 AHEERRAEIR T AT VMEAERR P A AEERE A T =1 BB+ I AN =1%1+0
EXSEANEE  15emA 8.2 40emPL T g 1.000 m2
4 ERERREUELFA BH0.20m3 SRR A T =1 BerlE + AN H =1%1+0
AR 10em L T g 1.000 m2
5 KEEY b BUREKHY PR THI=AE Fexi@*iz=1%1%0. 4
ANT] 5 0.400 m3
6 ‘FIHEE] BHO0.20m3 PR TH2 =2 FxlE*2=1%1*0. 6
)= 0.600 m3
7 ERMERE (BT R) BHO0.20m3 PR T U =% sl Z8=1%1%0. 4
Iioay R LR )= 0.400 m3
8 BB (Fhg I ) BHO.20m3 PR T US=HIE i xi4e=1%150. 4
RC-40H R + & o\ [ 6D Ve 0.400 m3
9 EHEE (W E)BH0.20m3 PR B T U4=%E Rl Z8=1%1%0. 35
M-40HR R + &/ [ o g 0.350 m3
10 FHEERBEEEMALER As BERA ALy (BEHITD) =Rl A FEe /S X =1%0. 2
)= 0.200 m3
11 EERBEIEMMEL As . BEA ALy (S 1) =Rl ri FEe R X =1%0. 05
)= 0.050 m3
12 PEREALEEIERE BH0.20m3 DTr4t BERE My (PR D) = A+ S =1%0. 2
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.200 m3
13 PEPRALFERE BH0.20m3 DTr4t BEAA T (S 1) =Rl i FEe R X =1%0. 05
AsHil - Codifl (%) 2.0kmPA T DIDA & 0.050 m3
14 FAE5EH BH0.20m3 DTrat B L ERR=H1 53 +H2 53+ TR PR 43 S+l ) —Hi 548 =0. 4+
17 9.0kmLL F DIDA g 1.000 m3 O0.6+0+00
15 &fidE T (HEE-¥H) Sem1 /& IS 1B =L F* g+ A I Ri=1%1+0
FAEBRIEAs 744 )= 1.000 m2
16 Bk —h R R T=1=1.0
150mm X 50m,/ % 254 0IAF» J= 1.000 m
17 Bk — Mgk T FHAR T=1=1.0
g 1.000 m




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

BEAR 1 AR KB AR T

X[# 20001 PP¢20 HiE

27 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L N To1=3
g 3.000 m
2 FEET—b A R T=1=3
150mm X 50m,// % 25 Hr0IAF» J= 3.000 m
3 GHEERREINT T AT 7 VM ST T =52 A P e A - I B =3%2+0
15emZ 2 30cm LA ™ g 6.000 m
4 BEFRI5IRAL SRS T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.028 m3 EEEE=(3%2+0)*0. 023%0. 2
5 EREERRAAR TAT7IVMEREERR e A AEERE A T = BB + T A N =3%0. 6+0
EXSFANEE  15emA 8.2 40emPL T B 1.800 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BerlE + T A N H=3%0. 6+0
EAEE10emLA T B 1.800 m2
7 EWIEE] BHO0.20m3 PE HI TH2 =% Fex@*iZ=3%0. 6%0. 88
)= 1.584 m3
8 BB (FEhE I ) BHO.20m3 MR TUL=4E Forfigs42=3%0. 60, 43
Tyiay AR g 0.774 m3
9 EEME (B R) BH0.20m3 R B T US=4E R #E12=3%0. 6%0. 25
RC-40# & + & 7 5 [E g 0.450 m3
10 B R (kg ) BHO0.20m3 R TU4A=FE F*E#4=3%0. 6%0. 35
M-408R & + & o 7 S [E D g 0.630 m3
11 EEERE R R) BH0.20m3 RGN GHTRR 4 ) =4 o *48 B i F=—1%3%0. 001
Iyioay R LR )= -0.003 m3
12 FERPFEIEMLIE As BERA LSy (BEHIT) =Rl A FEe S X =1. 8%0. 2
)= 0.360 m3
13 EEZEEIEMIR As - BERA AL Sy (AR H) =Rl i Fe /2 S =1. 8%0. 05
)= 0.090 m3
14 PEREALEEIERE BH0.20m3 DTr4t BERA T (PR 1) =l A Rk /S X =1. 8%0. 2
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.360 m3
15 PEPRALFERE BH0.20m3 DTr4t BEAA T (AE 1) =Rl Fe /R X =1. 8%0. 05
AsHil - Codifl (#E5%) 2.0kmEA T DIDA & 0.090 m3
16 FAE15EH BH0.20m3 DTrat B L IEW=H1 53 +H2 53+ TR 43 (S Hl ) — it 5 =0+1.
17 9.0kmLL F DIDA g 1.584 m3 584+0+00
17 & T (EE-¥E)5eml /& IS B =AE S IE + I AR N 5 =3%0. 6+0
FAEBRIEAs 744 )= 1.800 m2
18 Ef%E T (HIE-¥JE) 5em2/& (10cm) ARAE |H=FE FoHlig + A TN =3%0. 6+0
BT +FHTTA L P 1.800 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

F 1 A KEAMR L

XfHl 20002 DIP.GX ¢ 75 HijH

28 H

NO 4/ 3k ~HE B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAi% 1T.=L=0. 6
o 1500 Vs 0.600 m
9 RUZFLLAY—THET A T=1=0. 6
O T5LLT g 0.600 m
3 R EWRT—T7 L B R 1T=1=0. 6
675 )= 0.600 m
4 Rk —MAR L IR IL=1L=0.6
)= 0.600 m
5 A —h B R T=1=0. 6
150mm X 50m & 2fZ 410 iAFx b= 0.600 m
6 EKEER WK RER=1=0. 6
)= 0.600 m
7 EREERRUINT T AT 7V MR SR T T =2 = R H R AN =0. 64240
15emZ 8 2.30cmlL T g 1.200 m
8 BRI IRL SRR T 7K AL B = (Bl S AE 40 I+ AR+ I BRD) *0. 023%
& 0.006 m3 EHEEE=(0.6%2+0)*0. 023%0. 2
9 EHEERRAEAE TAT7AMMEEERR PEESE AEERE A T =1 BB + I AN 5E=0. 6%0. 6+0
EXCIAEE  15emZ B2 40emPA T b 0.360 m2
10 EFEERNEUELFGA BHO0.20m3 SRR A T =1 BexhE + I AN =0. 6%0. 6+0
EAEIE10emLA T B 0.360 m2
11 EFK4EHE] BHO0.20m3 PE | TH2=%E F#lig+1%8=0. 6%0. 6%1. 04
)= 0.374 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.060 m3 0.6%0. 2%
13 EEHEE (W E) BH0.20m3 MR B TUI=AE Fo#ig+i%E=0. 6%0. 6%0. 49
Iyay R g 0.176 m3
14 B RE (kg ) BH0.20m3 PR T U3=AE R #ilig+{8=0. 6%0. 6%0. 35
RC-40H R + & L\ [ 6D Ve 0.126 m3
15 ‘B E (W E) BH0.20m3 M B T U4=FE Ko+ ig+i%8=0. 6%0. 6%0. 35
M-40H & + 2o 5 [E 6 g 0.126 m3
16 ISR (MR &) BH0.20m3 B T (GHETAR - J5550) =JE B A LeiEWasiZE A H+ & Fr#=0. 5%
7vvar AR = 0.060 m3 0.6%0. 2%
17 EEERE BHER) BH0.20m3 R BPERR IR ) =4 £+ 48 Wr i g =—1%0. 6%0. 007
Iyay R g -0.004 m3
18 TEFRFEIEME As BERT ALy (R HIHS) =it fdi /2 X =0. 36%0. 2
)= 0.072 m3
19  ERPEFEWALIL As . FER ALy (A5 1R =R Ak i F+ 5 X =0. 36%0. 05
)= 0.018 m3
20 PEBEALERIEHE BH0.20m3 DTr4t BEAA T (PR I =Rl FEk /S X =0. 36%0. 2
AsBlL - CoBll (44%) 2.0knlL F DIDFA P 0.072 m3
21 PEPRALEREME BH0.20m3 DTrdt BERS T (AE 1H) =i FE+ /R X =0. 36%0. 05
AsHil - Codifl (E55) 2.0kmPA T DIDA & 0.018 m3
20 F&ATIEHE BHO0.20m3 DTrdt 7 1 TEHR=H1 53 +H2 55 Hik T8 4y (JESZ HAl i) — iR 48 =0+0.
+# 9.0kmLL T DIDAH )= 0.434 m3 374+0. 06+00
23 EREET (BEE-HJE) SemlfE IS IH=4E F* g+ A I =0, 6%0. 6+0
HABRIEAs TT745 & 0.360 m2
24  EiET (FEE-#JF) 5cm2)E (10cm) ARAE |H=4E K+ g+ EFE N 5=0. 6%0. 6+0
B2+ T TA L P 0.360 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

BEAR 1 AR KB AR T

29

X 20003 PP¢20 #AE
NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T BWHART=1=17.5
)= 17.500 m
2 FEET—b IR T=1=17.5
150mm X 50m,/ & 2fZH11iA F» V= 17.500 m
3 GHEERREINT T AT 7 VM ST T =52 A I e AR B N =17, 5%2+0
15ecmPA T B 35.000 m
4 BEFRI5IRAL SRS T 7K AL B = (Bl S AE 4 I+ AR+ I BRD) *0. 023%
5 0.024 m3 EFEEE=(17.5%2+0)*0. 023*0. 03
5 AHLEAREUELURDA BHO0.20m3 EREMR I T=JE R bg+ i A N B =17. 5%0. 6+0
AAEIE 1 0cm LA T Vs 10.500 m2
6 ERLERNEUELAA BHO0.20m3 SRR A T =1 BexlE I A NF=17. 5%0. 6+0
EAEE10emLA T B 10.500 m2
7 EWIEE] BHO0.20m3 PE | TH2=FE K lig+%E=17. 5%0. 6%0. 7
)= 7.350 m3
8 BB (FEhE I ) BHO.20m3 R TUL=HE R fi§+42=17. 5%0. 6%0. 43
Tyiay AR g 4.515 m3
9 EHHEE (W) BH0.20m3 PR TUA=SE R+ IEE=17. 5%0. 6%0. 27
RC-40# & + & 7 5 [E g 2.835 m3
10 B R (kg ) BHO0.20m3 B PERR GOk &) =1 K+ Wi F=—1%17. 5%0. 001
Iyioay bR g -0.018 m3
11 ERRBEFEWALEL As . BER L5y (BE HIAR) =i FE /5 X =10. 5%0. 03
)= 0.315 m3
1o BEREEEEMALE As BT LSy (5 1R) =fl Rk i A+ /5 S =10. 5%0. 03
)= 0.315 m3
13 PEREALFLEME BH0.20m3 DTrdt BERA T (BE IS =i R+ /R X =10. 5%0. 03
AsHil - Codifl (%) 2.0kmPA T DIDA & 0.315 m3
14 PEPRALHER: BH0.20m3 DTrdt BERA T (1E 1) =ik A i FEe 5 X =10. 5%0. 03
As3lL - CoBll (44%) 2.0knlL F DIDFA P 0.315 m3
15 A +5#EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik TR 4y (S Hld) —Fi B 4E=0+7.
T# 9.0kmLL T DIDA )= 7.350 m3 35+0+00
16 & (B3E)3cml)E A8 IH=E FHlE+ AR N A =17, 5%0. 6+0
HEBRIEAs 7 T745 )= 10.500 m2
17 & T (E) 3eml & A IH=E FHIE+ AR INH=17. 5%0. 6+0
BRI EAs 74N )= 10. 500 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

F 1 A KEAMR L

30 H

X[ 20004 DIP.GX¢ 75 HaH
NO 4/ 3k ~HE B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAis% T.=L=3.5
o 1500 Vs 3.500 m
2 RIZFLLR)—THET FRH R T=1=3.5
O T5LLT g 3.500 m
3 R EWRT—T7 L B R 1=1=3.5
675 )= 3.500 m
4 Rk —MAR L IR L=L=3.5
)= 3.500 m
5 A —h BHAR T=1=3.5
150mm X 50m & 2fZ 410 iAFx b= 3.500 m
6 EKEER WK FRER=1=3. 5
)= 3.500 m
7 EHEERRUINT T AT 7V MR SR T T =2 = R R A N =3, 5%2+0
15emPL T )= 7.000 m
8 BRI IRL S TR 7K AL B = (BlEEAE 40 I+ AL+ N BRD) *0. 023%
& 0.005 m3 &HEEE=(3. 5%2+0)*0. 023*0. 03
9 AHIERBUELFGA BH0.20m3 AEERE A T =1 BB + I AN E=3. 5%0. 6+0
BHEEE10emA T & 2.100 m2
10 EFEERNEUELFGA BHO0.20m3 SR A T =1 BexlE + I AN =3. 5%0. 6+0
EAEIE10emLA T B 2.100 m2
11 EFK4EHE] BHO0.20m3 PE | TH2=FE e+ g+%=3. 5%0. 6%0. 81
)= 1.701 m3
12 FHEHI BHO0.20m3 R T GRERHE - JE10) =3E 5 A LIgEWaske A HxfE AT %=0. 5%
5 0.120 m3 0.6%0.2%2
13 EEHEE (W E) BH0.20m3 MBS TUI=AE Fo#lig+i%E=3. 5%0. 6%0. 49
ryioay R LR )= 1.029 m3
14 B RE (kg ) BH0.20m3 PR T U4=4E R ilig+8=3. 5%0. 6%0. 32
RC-40H R + & L\ [ 6D Ve 0.672 m3
15 EEERE (R R) BH0.20m3 PR T (kA - I53) =JE B A LxlEWasiZe A Hx{&5 Frsk=0. 5%
Iyay R b= 0.120 m3 0.6%0.2%2
16 B RE (kg ) BH0.20m3 B PERR GOk &) =4k £+ 48 Wi i fE=—1%3. 5%0. 007
Iyioay bR g -0.025 m3
17 ERBEFEWALEL As BEAA AL S5 (HR I ER) =R A Fx 5 X =2. 1%0. 03
)= 0.063 m3
18 TEFRFEIEME As BERT ALY (A8 1R) =il A X =2. 1%0. 03
)= 0.063 m3
19  PEREALFLEME BH0.20m3 DTr4t BERA T (BE HITA0) =R R /R X =2. 1%0. 03
AsHil - Codifl (E55) 2.0kmPA T DIDA & 0.063 m3
20 PEPRNLEEEHE BHO0.20m3 DTrdt BERTEM (15 1R) =i fd /2 X =2. 1%0. 03
AsBlL - CoBll (44%) 2.0knlL F DIDFA P 0.063 m3
21 %4 +1EHE BH0.20m3 DTr4t 7 E =1 5y +H2 23 Hik TR 4y (RS Hll ) — iS4 =0+1.
T# 9.0kmLL T DIDA )= 1.821 m3 701+0.12+00
22  EHET (HE) 3cmlfE IAE IH=4E F+ g+ E AR I 5i=3. 5%0. 6+0
HAEBRIEAs 7I945 P 2.100 m2
23 EHEET. (HRE) 3em 1) A IH=IE F* g+ A I Hi=3. 5%0. 6+0
HABRIEAs TT745 & 2.100 m2




+ TEHEHEE 31 ®H

(FEHT-5) Bl K B AT i s L5+
BEAR 1 AR KB AR T

X[A 20005 PP¢20 “FEHNAs

NO b4,/ 3i#s -~k B g HAL EHEKX
1 HERR —MAR T AR T=1=1.5
B 1.500 m
2 FEET—b IR T=1=1.5
150mm X 50m,// % 25 Hr0IAF» J= 1.500 m
3 EHEERRGIMT T ATy VMRS SRAEY) B =545 AT B PR H S« AR BN =1, 5%2+0
15ecmlL T g 3.000 m
4 BEFRI5IRAL SRR T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.003 m3 &A= (1. 5%2+0)*0. 023*0. 05
5 EMEEARIPUELAEDA BHO.20m3 SR T=AE R+ AN =1, 5%0. 5+0
AAEIE 1 0cm LA T Vs 0.750 m2
6 RIEL b BLGHIKHY JEH TH2=JE Fexig+ZR=1. 5%0. 5%0. 45
A B 0.338 m3
7 HWRL BGH™HY L B TUL=AEE %=1, 5%0. 5%0. 45
FRE O ML b 0.338 m3
8 HRL FUGHIKDY b PR B PERR GOk ) =1 K+ Wi F=—1%1. 5%0. 001
fri[E O ML Ve -0.002 m3
9 ERRBEIEMILIE As . BER L5y (BR HIFAR) =i FE+ /5 X =0. 75%0. 05
g 0.038 m3
10 PEBEALEEIERE BH0.20m3 DTr4t BERTE M (PR HIER) = A+ R X =0. 75%0. 05
AsBlL - CoBll (44%) 2.0knlL F DIDFA JE 0.038 m3
11 ZAE+5#EME BHO0.20m3 DTr4t 7 - TEHR=H1 53 +H2 53 ik T8 45 (S Hl d) —#it & 48=0+0.
+# 9.0kmLL T DIDA g 0.338 m3 338+0+00
12 HEET (HE-HJE) Sl )E ARAE IH=E F+ g+ E A N BR=1. 5%0. 5+0
HEBRIEAs T745 P 0.750 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

BEAR 1 AR KB AR T

X[E 20006 PP¢20 ZFENCo

32 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 AR — MR L N To1=3
B 3.000 m
2 BEEERT—h A R T=1=3
150mm X 50m,// % 25 Hr0IAF» J= 3.000 m
3 AEEERRUINT 2v 7Y —MERR LGN T=1E B AR S+ N =3%2+0
15ecmlL T )= 6.000 m
4 BEFRI5IRAL SRS T 7K AL B = (BlEEAE 40 I+ AL+ I BRD) *0. 023%
& 0.014 m3 HZEE=(3%2+0) *0. 023*0. 1
5 RHEY T BSHIRKHY PR H TH2=%E Fex g #iZE=3%0. 5%0. 4
ANT] 5 0.600 m3
6 HERL JGHKIHY T BB TUI=AE R #IE =30, 5%0. 4
fri[E O ML Ve 0.600 m3
7 EERL BEHKHY T PR RAZERR CHTRR &) =4I Fox 8 W i F=— 1%3%0. 001
FRE O ML b -0.003 m3
8 RFRFEIEMALEE MR Co BERA ALy (BEEIFR) =il f+ 5 X =1. 5%0. 1
g 0.150 m3
9 PEREALFLENE BH0.20m3 DTrdt BERA T (HE H IS =i FE 2 S =1. 5%0. 1
AsHil - CoBfl (4£4%) 12.0kmLL F DIDA & 0.150 m3
10 FAE15EHE BH0.20m3 DTrat B L ERR=H1 53 +H2 53+ TR 43 (S +ll ) — it & =0+0.
+# 9.0kmLL T DIDH = 0.600 m3 6+0+00




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+
BEAR 1 AR KB AR T

X[E 20007 PP¢20 FEHNL

33 H

NO HBE4Fr/ Btk -~k B® K& HA

A

1 HERR —MAR T

&R T=1=3

g 3.000 m
2 fEFk—bh EH/RT=1=3
150mm X 50m,// % 25 Hr0IAF» J= 3.000 m
3 REEY T BSHIRHY PR HI TH2=4E F*ME*4E=3%0. 5%0. 5
ANTJ 5 0.750 m3
4 HEERL BGHKHY T BB CUI=HE R+ iE#iE=3%0. 5%0. 5
i [ DML 2 0.750 m3
5 HREL HGHKHY L PR RAZERR CHTRR &) =4I Fox 8 W i F=—1%3%0. 001
FRE O ML b -0.003 m3
6 I 3ERE BHO0.20m3 DTrdt B B Me=H1 57 +H2 23 Hik T8 45 (4 +Alm) - #i B 45 =0+0.
17 9.0kmEL F DIDA g 0.750 m3 75+0+00




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

BEAR 1 AR KB AR T

X[A] 20008 DIP.GX$ 75 “FEHNAs

34 H

NO b4,/ 3i#s -~k B g HAL EHEKX
1 EBHERAEAER T - A BYRAS (B k) DIPAis% T.=L=2.5
o 1500 Vs 2.500 m
2 RIZFLLR)—THET BB L=1=2.5
O T5LLT g 2.500 m
3 R EWRT—T7 L IR T=1=2.5
675 )= 2.500 m
4 Rk —MAR L IR L=L=2.5
)= 2.500 m
5 A —h IR T=1=2.5
150mm X 50m & 2fZ 410 iAFx b= 2.500 m
6 EHIERRUINT TAT7 VMRS SRS T T =H 2 4 R PR AR B N B =2, 5%2+0
15emPL T B 5.000 m
7 BEERIGIRAL AL TR K AL BR= (Bl EEAE B4 S+ AL+ IR *0. 023%
b 0.006 m3 EHEEE=(2. 5%2+0)*0. 023%0. 05
8  ERLEANEUELAA BHO0.20m3 SRR A T =1 BexlE + I AN H=2. 5%0. 6+0
AR 10em L T i 1.500 m2
9 ‘&M BH0.20m3 PE | TH2=%E Ko #lig+i%E=2. 5%0. 6%0. 79
)= 1.185 m3
10 ‘FHEHI BHO0.20m3 R T GRERHE - JE10) =2E 5 A LgEWaskse A HxfE AT %=0. 5%
5 0.180 m3 0.6%0.2%3
11 EEERE R R) BH0.20m3 R T U1=3E R EkizE=2. 5%0. 6%0. 49
Iyay R g 0.735 m3
12 B R (kg ) BHO0.20m3 R TU4A=FE F*E+{E=2. 5%0. 6%0. 3
FEA B 4 B S D 2 0.450 m3
13 EEERE (WHER) BH0.20m3 PR T ISR - JI55) =IE & A LxiEWasiZ A H 5 T 3k=0. 5%
Iyay R g 0.180 m3 0.6%0.2%3
14 EEEHERE (M R) BH0.20m3 PR EPERR GOk &) =4k £+ 48 Wi i fE=—1%2. 5%0. 007
7yvar AR R 2 -0.018 m3
15 ERRBETEWALIE As BEAA ALy (R EIER) =Rl Fe /R X =1. 5%0. 05
)= 0.075 m3
16 PEPEALEEIERE BH0.20m3 DTr4t BER E My (PR D) =i i+ < =1. 5%0. 05
AsBlL - CoBll (44%) 2.0kn2L F DIDFA P 0.075 m3
17 FAE+5EME BHO0.20m3 DTr4t 7 - TEWR=H1 53 +H2 53 ik TR 4y (S Hld) —Fe S 4E=0+1.
T# 9.0kmLl T DIDA g 1.365 m3 185+0.18+00
18 FE/EtEH BHO.20m3 DTrat 7% LR A LB R=— 1 (UL 5 +U253 +UB 5y +U4 55+l T4
+% 9.0kmPA T DIDA = -0.450 m3 - HaRE-MIERAE) =—1%(0/1+0/1+0/1+0. 45/1+0-0-0)
19 &h%ET (HEE-¥E)5eml /& A IH=IE F* g+ A I Hi=2. 5%0. 6+0
FAEBRIEAs 744 )= 1.500 m2




T TEHEEARE

(FEHT-5) Bl K B AT i s L5+

BEAR 1 AR KB AR T

X[E 20009 SGP-VD ¢ 75 “EHNAs

35

NO b4,/ 3i#s -~k B g HAL EHEKX

1 ERAERRGINT TAT7AMEEE SHAEY) B T =545 AT B B S« ARSI B =2%2+0
15ecmPL T g 4,000 m

2 BRI IRAL SRR ) T 7K AL B = (Bl S AE 40 I+ AR+ I BRD) *0. 023%

& 0.005 m3 &hEE[E=(2%2+0)*0. 023%0. 05

3 AEEAREUELUADA BHO0.20m3 AEERE A T = BB + T A N =2%0. 5+0
AAEIE 1 0cm LA T Vs 1.000 m2

4 FRYEY T BUGHIKHY JEH TH2=JE R+ iE+{5E=2%0. 5%0. 45
A B 0.450 m3

5 HWRL BGH™HY L R B T U1=AEE+Es5E=2%0. 5%0. 45
FRE O ML b 0.450 m3

6 HRL FGHIKDY i PR BEPERR GOk &) =4k £+ Wi i FE=—1%2%0. 006
[ DML Ve -0.012 m3

7 ERRBEFEMALEL As BERFZLy (BRI =fl AP i fi+ . < =1%0. 05

g 0.050 m3

8 PEFENLFYEH: BHO0.20m3 DTr4t BERE My (PR D) =ff e i+ = S =1%0. 05
As3lL - CoBll (44%) 2.0kn2L F DIDFA P 0.050 m3

9 /A +JEME BH0.20m3 DTr4t 7 - TEHR=H1 53 +H2 5 ik T8 45 (S Hl d) —#it & 48=0+0.
T# 9.0kmLL T DIDA g 0.450 m3 45+0+00

10 EEET (HE-HJE)SonlE ARAE |H=FE FoHlig + A TN A =2%0. 5+0
HEBRIEAs 7 T740 JE 1.000 m2




